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Topic:- General Knowledge and Logical Knowledge

1) Selectthe optionthatis true aboutthe Statements and
Conclusions given:
Statements:
All books are papers
Some papers are COVers
Conclusions:
I.No cover is book
Il.Some books are covers
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1. only conclusion Il follows / &Had sy I &HHTUTW%

2. only conclusion | follows / Had Y | WW%

3. neither conclusion | nor conclusion Il follows / - %p[ frp | ﬁ?q _E:p[ el ST B %’
4. both conclusion I and Il follows / FsP Y | \“rﬁ? Il Eﬁ:ﬁ WW%

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows / 33[ ﬁ"ﬂv_ﬁf | G?IT? %3[ el SR B %’

2) Find the odd one out: / T fauH JTd PHIfoIT:
1. Cube /Y-

2. Triangle /ﬁﬁm

3. Square /aTT

4. Rectangle / 31Id

()



Correct Answer :-

¢ Cube /Y

3) Find the odd combination of letters and numbers from among the following: / frufafaada \3{&1?-1@
T3l BT fauH T Haie J1d $e:

i. 1377520 ii. 1377502 iii. 1377520 iv. 1377520

1. iv

2.1

3.ii

4, iii

Correct Answer :-

4) In how many ways can 5 members be selected out of 10 members, so that the two particular members must

always be excluded? / 10 Wﬁﬁsmﬁﬁmﬁaﬂ%ﬁmﬁﬂmmm%mﬁ%aﬁm
UG W afeld ¥8d 82

1. 56
2.52
3. 64

4. 60

Correct Answer :-

5) In which year was the project Tiger launched? / o oo & arg ufae = &1 WUTEGH Yr?
1. 2004-05
2. 1983-84
3.2013-14

4. 1973-74

Correct Answer :-

« 1973-74

6) In which year did India become a republic? / P ad o uRa UD TMMORTSY I1?

@)



1. 1956
2. 1950
3. 1952

4. 1947

Correct Answer :-
e« 1950

7) Who is the first direct-entry Coast Guard officer to become the Director-General of Indian Coast Guard? /

YRAIG Te&H T & TGRS T aTd TUH Yeael-uiaf de & fUesr o1 82
1. Rajendra Singh / Mois Rig

2. Krishna Chaudhary / 80T Tet

3. Prabhakaran Paleri / THT®HR0T UTCIR]

4, H.C.S. Bisht / 9. 9. 09 [§¥

Correct Answer :-

« Rajendra Singh / Il g

8) Who is the present Governor of Meghalaya? | T T IAHT IsTUTd BI % ?
1. Tathagata Roy / dYl¥Id g

2. Padmanabha Acharya / T&FITY 3ATd

3. Banwarilal Purohit / SFARITA l}Rl ga

4, V. Shanmuganathan / ?ﬂEI'UHTI:ITW

Correct Answer :-

« Banwarilal Purohit / S-TdRICel gﬂ’%ﬂ

9) Who is the chief of the Indian Navy? / YRS TR & T P 82

1. Admiral Robin Dhowan / HSI?-NN NIEERIEIE

2, Admiral S M Prakash Nanda / TSR TF TH UHI Al

3. Admiral Sunil Lanba / TSR {Fﬁﬂw
4, Admiral Arun / USERE 3RSU[

Correct Answer :-

+ Admiral Sunil Lanba / TSR WW



10) Three —fourths of the Earth's surface is occupied by / q%ﬂ P T8 aﬂ?ﬂ:f-iﬁﬂ'lg HIT gRT
3frpa gl

1. Air/dIYg
2. Sand /iﬁ

3. Water / SIcT
4. Snow / ¥t

Correct Answer :-

o Water / ST

11) Dadasaheb Phalke Award is given for: / GIGT TTed WTew REWPR A F T wer= farar wmar 8:
1. Literature / GT%W

2. Social welfare / FJHIS g0l

3. Drama / STHT
4, Films / T ed

Correct Answer :-

« Films / T0eH

12) Which Article of the Indian Constitution guarantees the Right to Freedom of Speech and Expression? /

YR TR BT S AT 3¢ dia o1 Wazar auT ifieafd & ReR &1 yanyfa sare?

1, Article 22 / 356 22
2. Article 20 / S{T&5E 20
3. Article 19/ 3J®G 19
4. Atticle 21 / 3T&IG 21

Correct Answer :-

« Atticle 19 / 3G 19

13) The principal seat of the High Court of Madhya Pradesh is at / H& TSR & S AT BT T SR
T 82

1. Indore / Eéﬁ

2. Gwalior / TTfCIAR

3. Jabalpur / S&[¢TYR

(%)



4. Bhopal / HIUT@

Correct Answer :-

« Jabalpur / SdCTYR

14) Pagara is a dam located in / GITIRT qiY e Slilg A fRa % |

1. Morena / Hi_'ﬂ
2. Sholapur / Qﬁw
3. Ujjain / S
4. Balaghat / dICITIIC

Correct Answer :-

« Morena / Eﬁ:ﬂ

15) All Union Ministers are appointed by / F% PR & gl v ot ﬁ'ﬁ% fras grR1 &I ATl %’?

1. Chief Justice of Supreme Court / Hared < Bl qed rmelter

2. The President / ?quﬁf

3. The Vice-president / 3U Tl'gcﬁ%f

4. Prime minister / GUT HAT

Correct Answer :-

¢ The President / TI'E'CIﬁT

16) Where is the headquarters of Reserve Bank of India? / HTRed f¥erd dF BT qEIey $ai Ud 8?2
1. Kolkata / DIl

2, Mumbai / G5

3. Indore / E_Ca?

4. New Delhi / :i-i’c feeit

Correct Answer :-

* Mumbai / @-&F

17) NH 47A, which starts at Kundannur is the shortest highway in India. What is its length? / TG 47T Eif

PR I YR BT 8, YRd H a4 BICT ISHTT & | ITH! TS Fa1 82
1. 8km/ 8 fordil

(6)



2. 5km / 5 TopHl
3. 10km / 10 TopHT
4, 6km / 6 TpHl

Correct Answer :-

« 6km/ 6 fHT

18) Who among the following is the winner of the Jnanpith Award for the year 2015? / fafafaa & o= af

2015 & forg e AR & fasar 82
1, Bhalachandra Nemade / HICTGi& "HIS

2. Raghuveer Chaudhary / TE{EﬁT EIBR

3. Girish Karnad / TR 118

4. Shankha Ghosh / TR Y

Correct Answer :-

» Raghuveer Chaudhary / TQ_CﬂT ey

19) The third Guru of the Sikhs was / @l & TR = &
1. Guru Arjan Dev / & G‘IT{[:TéH

2. Guru Angad Dev / = 3Tg <d

3. Guru Gobind Singh / T Tifee g

4. Guru Amar Das / ¥ 3{HR ¥

Correct Answer :-

 Guru Amar Das / TR® 3{HR Q¥

20) Udayagiri caves is located at / mﬁﬁ '{[‘FI"I Ra %
1. Vidisha / fafc=m

2. Ujjain / IS0

3. Mandu / HIUG

4, Khajuraho / W

Correct Answer :-

e Vidisha / ﬁ[EQI



21) The first Asian Games were held in India in: / HIRd o q?ﬁ Qﬁ'ﬁiﬂg Tl BT eI T T4 AT:
1. 1950
2. 1952
3. 1951

4. 1953

Correct Answer :-

« 1951

22) International Labour Day is observed on / GI_CRT@TI 44 ﬁaﬂ foa ﬁq 'FH'ITITFI'I?IT%
1, May 1 /W3 1

2. May 17 /% 17

3. December 10 / f&&sR 10

4. June 5/915

Correct Answer :-

« Mayl/Ws1

23) The Vice-President of India is / HIRd & G'CRTgCIﬁI Gal
1. Elected by members of both Lok Sabha and Rajya Sabha. / JIHHT 3R AGIUT ST & Tl gRT BRI gl
2. Elected by members of Rajya Sabha only. / HIZ IIGHHHT & ol gRI AT ST gl

3. Elected by members of Lok Sabha only. / HIF AIBIUT & TGl gRT AT SIIdl gl
4. Appointed by the President. / JTFUTd GRT Fge fobar ST g1

Correct Answer :-
« Elected by members of both Lok Sabha and Rajya Sabha. / JISHIHI 3R AGIHT SHI & Tl gRT ECINSIGIH gl

24) The districts in which the Tropic of Cancer DOES NOT pass through are / o foral @ b Y@m qﬁ’f

1. Shahpur and Rajgarh / TTEQR 3R IS
2. Indore and Balaghat / E'EER 3R SreTeTe

3. Bhopal and Jabalpur / HoTet &R EENER

ve . =
4. Ratlam and Ujjain / TTATH 3R Il

Correct Answer :-

(8)



 Indore and Balaghat / ZaR 3R JraTEe

25) Complete the series choosing the missing number: / & IBAT FTHY FEAT DI GRT BITOTT:
3,59,15,23, _

1.28

2.35

3.33

4.30

Correct Answer :-

26) Complete the series choosing the missing number: / T TSI gHHR Al B tBTEﬁﬁTE:
2,357, _

1. 10

2. 11

3.9

4. 8

Correct Answer :-

« 11

27) Complete the series choosing the missing number: / & IBAT GAHT FTAT P GRT BIToTT:
2,3,6,11,18,

1.29

2.20

3.23

4. 27

Correct Answer :-

28) Select the option that is true about the Statements and Conclusions given:
Statements:
Some sofas are chairs

©)



Some chairs are tables
Conclusions:

I. Some chairs are not tables
II. Some tables are sofas

| 39 faped o1 79+ FiRIE e Gy 7T HY=1 ok fFrepel & ar & 9L &:

DY

O WG PRI &

o piiai 4w ¢

o

oo PRIl O 181 8

TO A AIBT §

1. only conclusion Il follows / ad fISHY [ SR BT &

2. only conclusion | follows / A &R | SFIERUN FHRl §

3. neither conclusion | nor conclusion Il follows / 7 &1 7B | 3R 7 gt fFAh T 11 3FIARUT % &

4. both conclusion | and Il follows / T&RY | 3R 11 Q-\I-'If HFERU D Xd %

Correct Answer :-

« neither conclusion I nor conclusion Il follows / qﬁﬁ'@?ﬁ | @T?ﬁ sl G-IENTUTW%

29) Select the option that is true about the Statements and Conclusions given:
Statements:
All scooters are vehicles

Some cars are vehicles
Conclusions:

I. Some scooters are cars

I1. Some cars are scooters

/ 39 fapey =1 9= FifoTe Hifes 2T T8 Fy=T i eyl & IR & 98 8:
DY

Jf TpeR aTeA &
$O BR e 8
e

I $B e A/ S
II. $O PR ID ¢

(10)



1. only conclusion Il follows / Pad ey || &WW%

2. only conclusion | follows / Fad [=py | WW%

3. neither conclusion | nor conclusion Il follows / ?Eﬁﬁ'@v_ﬁf | ﬁ?qﬁﬁmﬂf l &WW%
4. both conclusion | and Il follows / fTsFT [ 3R 11 G WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows / qe"rﬁﬁmf I Gﬁqqﬁﬁﬁﬂﬂf l @Iﬂﬂ?‘:ﬂm%

30) Select the option that is true about the Statements and Conclusions given:
Statements:

All trees are shrubs

Some plants are trees
Conclusions:

I. Some plants are shrubs

II. Some plants are not shrubs

/ 39 faweu &1 9= Fifere sifer e e Y iR el & 9 & 98 8:
DY:

vt gar TSt ©
FoNAga T
fAreepd:
I $5 WA @it §
IL 59 N It T8 @
1. only conclusion Il follows / Had sy |1 HWWT%
2. only conclusion | follows / Fad sy | WUTWT%
3. neither conclusion | nor conclusion Il follows /qﬁﬁ&%_‘il ﬁ?qéﬁﬁm i WW%
4, both conclusion | and Il follows / TS [ 3R 11 G WW%

Correct Answer :-

« only conclusion | follows / FHad ey | WUTW%

31) Find the odd one out: / T% fIuw JTa FHifere:
1. Horse and Stable /‘aﬁ@’raﬁ“\f SESEH
2. Sheep and Pen / ﬂ‘s’ 3R

3. Birds and Nest/q&‘ﬁ GﬁT‘EﬁﬂﬂT

4. Dog and Den / Pl 3R Alg
(11)



Correct Answer :-

* Dogand Den/WBﬁTIﬂE

32) The series given below contains a sequence of numbers. Identify the incorrect combination: /

1 &t 1S g o, G=msi &1 T wH SufRd &1 Tad Jaie Ugne:
1,3,7,15,31, 64

1.31

2. 15

3. 64

4.1

Correct Answer :-

33) If JOKER is coded IMHAM, then how is SHAHRUKH coded? / af¢ JOKER &I IMHAM ¥ &ifsd
forar SITaT 8, 1 SHAHRUKH &) &9 SIS fopar simam?

1. RFYENDOZ
2. RFXDMODZ
3. RFEXFMODB

4. RFXENODZ

Correct Answer :-
« RFXDMODZ

34) If CONDEMNis coded CNODMEN, then how is TEACHER coded? | Gf& CONDEMN St CNODMEN
I Hifed fFar Sa1 8, Y TEACHER &) $1 Sifed forar SRm?

1. TAEECHR
2. TAECHER
3. TAECEHR

4. TCAEER

Correct Answer :-

e TAECEHR

(12)



If CHAIRis coded DIBJS, then how is TABLE coded? / ¢ CHAIR & DIBJS T Hifsd far S §, @t
TABLE & $J Hifsd far srmm?

1. UBCMF
2. UDBLE
3. RACGK

4. SFGMI

Correct Answer :-

 UBCMF

36) Study the instructions carefully and find the value for the following: / 131 &7 saFyd® sreaa=
P 3R 7 &1 91 71 B

Here; / TgT;

+ => Multiply / J[UIT BT

* => Division/ ICEYEE]

/=> Addition/'q.T‘T

-=>Equal to/%ER'ITW

= =>Minus/ BUT

60*(22=10)+1+3+3
1. 45
2.9
3.90

4. 48

Correct Answer :-

37) Complete the series choosing the missing letter/s: / Gl SER/AERY aﬁw 8{@?” Gﬁ'wm
abxyz__xa__yxa__yza_ xz__

1.b,z,a,b,a

2. b,x,3,b,y

3.b,z,b,b,y

4.b,z,b,c,a

Correct Answer :-



38) In a certain code language, beta zeta teta means s/ow local train, zeta zota pota means fast
passenger train, tui mara beta means view sfow motion. Which is the word for /ocal/in that code
language? / T @9 CACRTIL ﬁ', beta zeta teta 1 I slow local train; zeta zota pota &1 3 o fast
passenger trai; tui mara beta®1 3 view slow motionEdT €1 39 B8 YN H Jocal F foE fFa vg

P SEIHTS fpaT 74T 872
1. mara
2. beta
3. pota

4, teta

Correct Answer :-

o teta

39) In a certain code language, Bring me water means Ki Pu Le; Don't waste water means Do Ki
Ma; Bring that board means Le Tha Se. Which is the word for Bringin that code language? / T W9
PIS YT 'l?f, Bring me water &1 3 f Ki Pu Le; Don't waste water &1 3 ¥ Do Ki Ma; Bring that board
BT 3 Le Tha SeBId1 81 3 IS HIWT | Bring $ fore {4 sreg &1 swawTa fHar Tar 82

1. Do
2. Pu
3. Ki

4, Le

Correct Answer :-

o e

40) In the word 'MICROSCOPE" each letter is replaced by the letter preceding the letter in the
alphabet series. What will be the gth alphabet in the changed word? / s '"MICROSCOPE" A yd®
3&R Y quiHTar YEar ¥ ydadi e I ufaeatfie far sirar 31 ufvafda wsg & 877 sigR Fam g1m?

1.N

2.Q
3.P

4.B

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

(14)



1) If the following two squares shown below overlap, which one of the following options

is formed? / afg TFar &F a9 s1feaiia gid &, oF A= & & &l O v JeeT a=adr &7

I
&
2
L
|5

Correct Answer :-

(15)



In the sequence shown below, which figure comes next? / @il 7631 IR ®H H, Il

T FheT W 3

4.

T
(x\x[‘ \}
IR
<1~
3 Simplify; [E +i] of %qgﬂl_l /| Bol i %#1%;:11_1 a;[[é +i]
e I L S R 573 43 9 9
2
5
1.

(16)



o =

g |

Lo —

Correct Answer :-

4) Mahesh goes to a shop to buy a shirt for Rs. 654. The rate of sales tax is at 9 %. He tells the shopkeeper to
reduce the price of the shirt so that he pays only Rs. 654, inclusive of the sales tax. Find the reduction needed in

the price of the shirt. / T3%T U® g & 654 TUY H Th HHIol Wiladl 8| AP PR BT aR 9% 8198
GHTGR B WE W 3 U HH I B! gl ¢, o a8 ! w3 & a1 2wE Y 654 0 & Tl TF |
¢ P PHHT & S S arelt ATIRIP HHI 2|

1. Rs. 74/ 74 304
2. Rs. 54 /54 Y
3. Rs. 84/ 84 T

4, Rs. 64 / 64 3T

Correct Answer :-

e Rs.54/54 300

5) How many numbers from 500 to 700 start or end in 6? / 500 YT 700 & ofg fat Q@' '\"I@Tﬁ' %', Sed
SR T T TIail 62

1. 100
2.99
3. 10

4. 110

Correct Answer :-
o 110

6) Which of the following is a perfect square? / fFrafefaa & 9 19 W Jen Th E[Uf CLi %?

1. 457633
(17)



2.228484
3. 378119

4. 266498

Correct Answer :-

« 228484

7) What is the time taken by a train of length 200 m traveling at a speed of 60 m/s to cross a person traveling at

a speed of 36 kmph in the same direction? / 200 Wﬁﬂwaﬁwm 60 HIA. %, It fe=m # 36
il d St a1a | i 37 Afd Bt ot &R H uR Hil?

1. 4sec/4ﬁ.
2.10sec/10 9.
3. 11sec/11 9.

4.SSec/5®.

Correct Answer :-
e 4sec/4

8) What is the average of the first five prime numbers? / WJH 5 3IHTST T3t T 3N fdar g2

2
H—
5
1.
e
s
A
2.
52
3. 3
4.6

Correct Answer :-

L
Lh | w

9) Average of all prime numbers between 30 to 50 / 30 T 50 P S B it ruTe Tewmsit o1 Sfid g
1.39

2.37
(18)



3.39.8

4. 37.8

Correct Answer :-
« 398

10) If the shares of children of a sheikh are in the ratio 2/3 : % : 3/5 given that the difference between the shares
of the sons with the maximum and the minimum share is 15 million Arabian Dinars, how much is the share of

the son who gets neither the maximum nor the minimum share? / Wﬁ@aﬁwﬁrﬁmaaﬁ%%\:&aﬂ
ST 2/3:1/2:3/5 81 feu man 8 i aiftreraw ok =gmaw iR & &t 15 fufera Rl fRAR &1 sieR 81359
¢ o1 i foram 8, o 7 @ eiftrpaw fewam v gom =1 € =g

1. 48 million Arabian Dinars / 48 THTCTI 3Rel! fgAR
2. 54 million Arabian Dinars / 54 THfera &t ﬁ:ﬂT
3. 60 million Arabian Dinars / 60 Tl 3Ral fdIR
4. 45 million Arabian Dinars / 45 ffera eR&l fdAR

Correct Answer :-

« 54 million Arabian Dinars / 54 TfeTg= SRt f&dAR

11) A person purchased a bike for Rs. 50,440 including sales tax. If the rate of the sales tax is 4%, find the

original cost of the bike./@ﬁwm 50,440 vﬁﬁm%ﬁmﬁﬁﬁm ft smfre g1 afe
It TR Bt &R 4% g, A T3S BT IATAD G 1 B |

1. Rs. 48,500 / 48,500 TTY
2. Rs. 49,500 / 49,500 SUY
3. Rs. 48,000 / 48,000 SUY

4, Rs. 49,000 / 49,000 3T

Correct Answer :-
« Rs. 48,500 / 48,500 ST

12) An Iron box was brought for Rs. 770.75 and was sold for a profit of Rs. 50.25. Find selling price of Iron

box? / T T BT TT 770.75 TUY H WIST 7T, 3R IV 50.25 TUY & oY W 9 far a1 39 a9 &1
fara geu fpaT 82

1. Rs. 721 /721 394
2. Rs. 521/521 30
3. Rs. 821/ 821 0
4.Rs. 621/ 621 I

(19)



Correct Answer :-

« Rs.821/821 30

13) There are three sections A, B, and C in an examination and it is necessary to get at least 40 % of the total
marKks to pass the exam. A candidate got 84 out of 120 in Section A and 40 out of 150 in Section B. State the
minimum score the candidate has to obtain out of 180 in Section C in order to pass the examination? / Uh T

B SIUTT A, B 3R ¢ § 3R wlien &) Sitvf o & g $a siwl 1 =g7aw 40% @1 et 81 v
Tiemdf BT SIFURT A T 120 T A 84 3T MR SFURT B & 150 T A 40 3 Wed gl & | wiemeff &) wdien o
Sl 811 F fRre STt ¢ § 180 H A fFaq o @F gil?

1.32
2.44
3. 56

4. 64

Correct Answer :-

e 56

14) There are 30 % monkeys, 40 % deer, 10 % wolves and 20 % lions in a forest. If all 100 deer are captured
from the forest, how many lions are there in the forest? [ Th ST H 30% 3'3?', 40% f?ﬂ_"f, 10% ﬂ%& 3R 20%
TR T 1 afe @t 100 R S & U e o, o sivTer § fhaq IR 2

1. 50
2.45
3.25

4. 30

Correct Answer :-

15) A, B, and C can do a work in 24, 16 and 12 days respectively. How many days will it take them to complete
the work, if the three of them decide to work together? / A, B 3R ¢ frd o &1 A 24,16 MR 12 feaid

R H2d 3 1 afe i a1 frass w1 H31 &1 fHofa ad €, 9 o feam fe & g 8t s

~l days / :@ﬁﬂ
) 2
1.
2 2
5-days / 5=fga
)
2.

(20)



16) The simplest form of 30xy + 20yz - 10xy - Syz is: / 30xy + 20yz - 10xy - Syz DT dX Fq_tﬁ"'":
1. None of the above / STRIGI H T ﬁ'ﬁ‘%"r

2. 15yz + 15xy

3. 20yz + 20 xy

4. 20xy + 15yz

Correct Answer :-
e 20xy + 15yz

17) 30:42::35:?
1. 48

2.40

3.45

4. 49

Correct Answer :-

18) The average of 3 consecutive numbers is 15. Find the highest number among these numbers. / 3 PP

TTa3if T 3NTd 15 81 599 I TSI I ghfi-
1.14,15,16
2.15,16,17
3.12,13,14

4.16,17,18
(21)



Correct Answer :-

. 14,15,16

19) In the sequence shown below, which figure comes next? EIEACRCE | 'J}l', ST Gﬂ@'ﬁf P4 It et

X X X
0 0 +

+
3,
X -
0 +
a,

20) A train, 175 m long, running at a speed of 63 kmph will pass a man in ./ 175 |t Tt W?ET S 63

fPiAFaaA N e, wafms_ FursEll
1.8sec/8¥

2. 10sec /109,

3. 6sec/6 9.

4,12 sec/12 9.

Correct Answer :-

« 10sec/ 109,

(22)



A train 300 m long travelling at 120 kmph crosses a bridge in 45 seconds. How long is the bridge? / 300 T, vt

TS e 120 fordll/e Ft i T =erd §U, U Yo Bl 45 . T UR Bt 31 ol I s fobait 82
1. 1500 m / 1500 HI.

2. 1200 m / 1200 H.

3.900 m / 900 H.

4. 1000 m / 1000 HT.

Correct Answer :-

« 1200 m/ 1200 HI,

22) The inner circumference of circular race track 14 m wide is 440 cm. Find the radius of the outer circle. / 14

He? NS TP TR SIS &b AGH B SAiaives uRTT 440 A 21 9161 g B Brwn 3 B¥1
1. 56 m/ 56 HIcX
2. 84 m/ 84 HicX
3.76 m/ 76 HIX
4,90 m /90 HicX

Correct Answer :-

. 84m/84 TR

23) The Ratio of Ages of Anil and Sunil is 2 : 3. Five years later their ages will be in the ratio of 3 : 4. What are
their present ages? / 3TE 3R el BT ST BT SIUTA 2:3 B | UiT AT I1¢ SD! 3T BT UT 3:4 T,
AP TAHT 3T T 82

1. 16, 24
2.8,12
3.4,8

4. 10, 15

Correct Answer :-

24) The difference between two numbers is 235. When the larger number is divided by the smaller one, the
quotient is 4 and the remainder is 10. Find the largest number. / &Y ST BT 3iaR 235 %I g 'ﬂ?;of T2 B
B we A fqurfora fear ome af HITee 4 SR AUw 10 T BT 31 TST WS 1 DI |

1. 295

2,315

(23)



3.305

4,310

Correct Answer :-
« 310

25) Two times the age of X is 3 times the age of Y. 8 years back, the difference between the ages of
X and Y was 18 years. What is the present age of X? / X ®1 gl[-I 3 Y &1 i< Tl 3 & RSR 21 8
¥ gd, X 3R Y F} 31y H7 3R 18 9 4TI X Y geiw 3y frat 82

1.24
2.54
3.56

4.91

Correct Answer :-

26) 43% of 20 + 65% of 30 = ? / 20 PT143% + 30 PI165% =?
1.22.1
2.20.1
3.28.1

4. 29.1

Correct Answer :-

« 281

27) Which one of the following four addresses is NOT EXACTLY same as the one given below? / EE] ﬁ'a"'l'aiﬂ?

Tar & 9 R R R 1 & e g $9 91T T8 82

Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland

(i) Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland
(24)



(ii) Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland

(iii) Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland

(iv) Todd Watson
33 Paula Lane
Uncasviile CT 06385

30-740 Poland

1. iii

28) Find the average. / 3aq Md P
101, 105, 107, 113, 115 & 125

1. 111

2.117

3. 109

4. 110

Correct Answer :-

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / LiE|

S g |, sreri 3R HEmedt w1 ve wH fAfRd &1 Terd atei ugane:

1.rwqr00241rwqr
iL.rwqr002411wqr

iii.rwqr00241rwqr
(25)



ivrwqr00241rwqr

1. iii

Correct Answer :-
e i

30) A cube of 384 cm? surface area is cut into smaller cubes of surface area 6 cm2. How many

cubes would be there? / 384 THI2 &% d dlcl U U9 DI 6 GHI2 I BIe-BIe U=l A DIl AT 2 Bic
) Y F@= fpa-t grf?

1.4
2. 16
3.27

4. 64

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)
If[(z)‘1 —(_—1)1 I is expressed in the fo\rm:i . then it is: /TTE [(z)l —(%)‘1 It =r 2 FETH
=g e FT, & 98§

aly o

Wl

(26)



-

=
4.

Correct Answer :-

—3

2
2) £ _¥ x_7F

The value of 54— = /LR ATE

%2 2 x2 32

1.1
2. )(2y2
3. Xy

3)

If4/18225 = 135, then the value of V18225 ++/1.8225 is: / TTg +/18225 = 135, ar

+/182.25++/1.8225 &7 AT & :

1. 1.485
2. 13.635
3.2.7

4, 14.85

Correct Answer :-

« 14.85

(27)



Inthe figure, AB | DC, 2ABC = 60°, 2CEF = 30°, then ~EFD is: /=T & AB || DC, 2ABC = 60",

£CEF =30°,dl «EFD g&:

o
0
i

c

1. 40

c

2.30

s}

3.20

[+

4,25

Correct Answer :-

c

« 30

5) A shopkeeper marks his items 40% above the cost price and gives a discount of 20% on the marked
price. His gain percentage is: / T GG (U= a¥g3N B! T e W 40% i ifdrd wear @
IR TOIR & TR 20% Bt Fe &aT ¢ ITBT a1y gl 8 :

1. 20%
2. 14%
3.15%
4. 12%

Correct Answer :-

. 12%

6) Ramesh needs to earn a monthly interest of Rs. 8000. The interest rate is 10% per annum but it is
paid every month. Which of the following is his investment? / U= BT 8000 TUY BT ATRISH TS

AT H P STa=gHaT 8 | TS &X 10% UfdaY 8 TR IE & AT o ol 8 | Fafaf@a # ¥ #149
1 DT A g2

1. Rs. 800000 / 800000 3T

(28)



2. Rs. 640000 / 640000 SUH
3. Rs. 1000000 / 1000000 3T
4. Rs. 960000 / 960000 ST

Correct Answer :-

« Rs. 960000 / 960000 ST

7) A can do a piece of work in 10 days and B can do it in 15 days. Number of days to complete the
work if they work together is: / A T ®T1 B 10 e § 3 Ipar g MR B IF 15 fea A s gpar 21
Tfg Il T 1Y H1 B dl B yoi B 7 ) fo il &t e &

1.6
2.9
3.7
4.5

Correct Answer :-

6

8) Three cubes whose edges measure 3 cm, 4 cm and 5 cm are melted to form a new cube. The surface

area of the new cube formed is: /?ﬂqﬂqmwmqﬁ3ﬁ,4@1ﬂéﬁ?5ﬁ%www
& frrfor ¥ e Rreren fog 7w €1 i T o= @1 gty dowar @

1,294 cm3 / 294 T3
2. 150 cm3/ 150 THP3

3. 864 cm3 / 864 THI3
4,216 cm3 / 216 I3

Correct Answer :-

« 216 cm3 /216 IH3

9) When 2x4 + 8x3 + 7x2 + 4x+ 4 is divided by x + 3, the remainder obtained is 1. What will be the
remainder when 2x4 + 8x3 + 7x2 + dx + 3 is divided by x + 3? / ST 2x% + 8x3 + 7x2 + dx+ 4 Pl x + 3,

SRT FAUTRIa fHar 7T o UTed AYB 1 81 519 2x4 + 8x3 + 72 + 4x + 3 Bl x + 3 §RT FAyTia foar
STU 1 UGB T ITT?

1.3

(29)



2.2
3.1
4.0

Correct Answer :-
« 0
10) Which one of the following statements is correct? / fFafafaa sy A A H A0 Udh gl %?

1. 392 is a perfect cube / 392 quf'ﬂq%

2. For an integer a, a> is always greater than a2 / Tdh W a® fdg, a3 Ted a2 Y EE] %

3. There is no perfect cube which can end with exactly two zeros / RG] H;Uf R Gﬁ@ e al
T P 91 T B

4.1f a2 ends in 5, then a3 ends in 25 / ¢ a2, 5 A AT BIaT & o a3, 25 H YA giaT &

Correct Answer :-

o There is no perfect cube which can end with exactly two zeros / aﬂT ﬁ_ﬁc U;UT‘EFT :l—sof% Gﬁ@ davg I E‘Pf
T & 1Y GH B

11) The parallel sides DC and AB of a trapezium ABCD are 12 cm and 36 c¢m, respectively. Its non-
parallel sides are each equal to 15 cm. The area of the trapezium is: / Y& HHIHW ABCD P AR
YSITE DC 3R AB HHTT: 12 A 3 36 Wit §1 ST Ud® Srauiar Youd 15 A & aR1aR B

HHAH P ETPA G :

1. 432 cm? / 432 TH12

2. 162 cm? / 162 THI2
3. 108 cm? / 108 THI2
4,216 cm?2 /216 IH2

Correct Answer :-

e 216 cm? /216 9HI2

12) The probability that a number selected from 1, 2, 3......,35 is a prime number is: / 1, 2, 3......,35 A

ﬁwﬁawm%ammtﬁ%ﬁmﬁw%:

12

as
1.

(30)



[ay
|t

48]
91

[
=}

w
4]

[
[E8)

w
Ui

Correct Answer :-

[y
[y

13) What is the number of sides of a regular polygon when each of its angles has a measure of 135D? /

TP U IgY FI fra-l Yoimg & STafs 3T Ude I BTAM 135 82
1.6
2.9
3.8
4.7

Correct Answer :-

« 8

14) Soft metals that can be easily cut by a knife are: / JTIH mﬁ% ST ﬁﬂ@ﬁm GTWT%:
1. Mercury and zinc / URG q¥T Sl

2. Sodium and potassium / TSTH TUT Qe REH

3. Sodium and tin / oqfsgg gurfes

4. Potassium and zinc / Tie FRIH quT ST

Correct Answer :-

* Sodium and potassium / Tifsgy gy ae e

15) Which one of the following is NOT a renewable source of energy? / Frafafaa 3 @ o9 91 Swf &1 3
Tdevuit T8 82

1. Wind mill / Ua gt

(31)



2. Solar cell / TR e
3. Nuclear power / AP Sl
4. Tidal power/ﬁ'l'\ﬁ'qmm

Correct Answer :-

» Nuclear power / AT Sl

16) An element which is stored in water is: / Y dcd CIIGIE] ﬂ")ﬂ%ﬁﬁ?ﬂ %:
1. Phosphorus / IR

2. Zinc / ST

3. Sodium / AifSTH

4. Potassium / e Rrm

Correct Answer :-

o Phosphorus / I RY

17) The transfer of pollen from the anther to the stigma of a flower is called i mﬁw‘r
& afPTI dP RN BT RIFTARI FeaEigl

1. fertilization / FS=H
2. fission / ICICRE]
3. pollination / UXTNTUT

4, transportation / tlﬁa%:[

Correct Answer :-

« pollination / YRNTOT

18) A constellation named hunter is: / 98 dRTHSA = % oA gax %:
1. Polar bear / géﬁq i

2. Sirius / HIRTH

3. Orion / 3R

4. Great bear / I foRR

Correct Answer :-

« Orion / 3R

(32)



19) ’&ABC is inscribed in a circle with center O and if “BAC = n, “0OCB = m, then: / a’? o arad Th

g d 2ABC 101 & 3R afg “BAC =n, “OCB=m, ™ :
L. m+n=150
2.m+n=90c
3.m+n=180
4m+n=120

Correct Answer :-

20) Which of the following is not a characteristic feature of acute diseases? / feadaeqdE Th Tfiv T @t
3frererfore fauar 7t 82

1. There is a short duration loss of work and efficiency. /WW%’TWWH ngﬁﬁaﬁ%l
2. The patient recovers completely after the cure. /W%Wﬁ@@@mam%l

3. They are long lasting diseases. /amﬂﬂ@ﬁ%ﬂ

4, There is no loss of weight. / sﬂ'ﬁ[ qol Bl ET&[ H%QI @?ﬁ %I

Correct Answer :-

e They are long lasting diseases. /amm@ﬁél

21) |t covers the ends of limb bones and reduces friction in joints. With what is it covered? / Ig @1

SR & RIRY B chal & SR SiS! A TYUI HH FHIT ¢ 1 I8 (5 b1 91T 82
1. Ligament / 3RS

2. Cartilage / JUTRY

3. Muscle / HiEaeft

4. Tendon / P81

Correct Answer :-

» Cartilage / Uy

22) A number is twice the other number. When the larger number is subtracted from 50, the result is 2 more than
when the smaller number is subtracted from 40. The smaller number is: /W'\H@Tg\qﬁ LiLC | E&Tﬂ'ﬂ:ﬁ HEE) CE|
AT Y 50 T USTAT STl 3, A1 WIS UROIH BIET W& P 40 I TeTY S R T IR & 2 3ifie giar g1
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1.6
2.7
3.5

4. 8

Correct Answer :-

23) Youngoneofacowiscalled ./ BIIDSI____ Dgdidl %|
1. kitten / focel &1 o=

2. calf/ DI

3. baby / d1

4. pup / O

Correct Answer :-

24) The passage of electric current through a salt solution causes a: / @dUl faeras & wreaw @ ﬁgﬂﬁ HURT
¥ UATg & BIRYT g BT 32

1. Electric effect / fdgad UHTG
2. Heating effect / 9 UHId
3. Chemical effect / XTI UHIT

4, Magnetic effect /ﬂaaﬂm;rm

Correct Answer :-

¢ Chemical effect / THT UHIT

25) Flexibility in plants is due to . /ol o afe P HRUI AT 2
1. Collenchyma eGLRED

2. Sclerenchyma /2¢Id®

3. Parenchyma /Hgd®
4, Chlorenchyma /WWI%TIT

Correct Answer :-

e Collenchyma EGLIRED



26) Forest is being cleared for cultivating crops. The environmental impact of such practice will lead to: /

FHadl @ Dot & T a1 ST THrT fFar o1 3@ 21 59 UPR & 3T BT IIiaRvig YUTd SHPT g Hel:
1. Soil culﬁvaﬁon/%ﬁﬂl‘sﬁ
2. Soil erosion / {al 3R

3. Soil pollution / &l UgHUT
4. Soil fertility / &1 &1 Jaxar

Correct Answer :-

+ Soil erosion / Hal 3{URc

27) Depletion of ozone is mainly due to: / 3\WI¥ PT UL GBI FU T ISP HRUT gl &
1. Chlorofluorocarbon compounds | FARTTAR IS A

2. Carbon monoxide /Wﬁ\?{\fm

3. Methane / {139

4, Sulphur dioxide / TR SBARIZS

Correct Answer :-

¢ Chlorofluorocarbon compounds / FARIIAR ISP TE TN

28) Collenchyma : hemicellulose ::sclerenchyma :
JRGLIGET %Tﬂﬁﬂ?ﬁﬂ:: E?.ﬁ?l‘cﬁ

1. lignin / foifd=

2. cellulose / IqaN

3. pectin / Ufded

4, fibres /%‘«’ﬂ

Correct Answer :-

« lignin / foifo=

29) The umbrella- like spherical part of a button mushroom is: /T® dcH HRRH BT T FHT MATPR

msﬁm%

1, Pileus /&89

2. Rhizomorph / dgeTel
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3. Sporangium /EﬁTFI'I'Ul‘EIFﬁ
4, Stipe / BABIGA
Correct Answer :-

¢ Pileus /A

30) When viewed from the top, the water in the pond appears to: / $UX R RICE] R, dIdlid H gt ﬁE’Iﬁ

a?IT%:
1. Be more deep / 31f¥& TR
2. Be less deep / HHTTGY

3. Be same / JHMH

4. Sometimes appears less deep and sometimes more deep /BB H BT e G?R$‘Lﬁ-$ﬂ-ﬁww 3P

Correct Answer :-

« Beless deep / DHTTGR

(36)



